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1141 gk —Al 41 41 82 14.0 68.0
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154 AN RE 42 39 81 11.0 70.0
1641 /N =2 P S 41 39 80 10.0 70.0
174 BR EH 46 40 86 16.0 70.0
184 HIS  IE 43 41 84 14.0 70.0
194 HH KFA 38 44 82 12.0 70.0
201 FT 52 45 97 27.0 70.0 75
21431 R & 49 46 95 25.0 70.0
2241 Bk BEZ 39 39 78 7.0 71.0
2343z xE BF 41 40 81 10.0 71.0
2441 dll EE 43 40 83 12.0 71.0
2541 FE E— 37 40 77 6.0 71.0
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281 B 5% 52 42 94 23.0 71.0
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361i & W= 49 43 92 20.0 72.0
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4241 TE it 41 42 83 10.0 73.0
4311 M BRAER 39 43 82 9.0 73.0
4441 RE 40 40 80 6.0 74.0
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814 a R 46 49 95 17.0 78.0
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861i BA B 46 48 94 15.0 79.0
8741 AH &R 44 43 87 7.0 80.0
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9143 R - 51 47 98 17.0 81.0
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1001 =8 &7 46 45 91 8.0 83.0 75
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10941 w’E EA 49 47 96 11.0 85.0
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